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Addizioni e sotrazioni con i numeri negativi Nome:

Risolvi ogni problema. Risposte
1) 935-(-156) = .
2 (-42)-89= ,
3 1-(-6)=

3,
Y (+(H)= )
5) (-47) + (-85) = i
6) 20+ (-16) = A
7) (-863) - (-853) = ,
8) 263+ (-692) = .
9 (-510)-126= o

10) (N+(CB)=_ o

11) (-61) - (-16) = "

12) (N-(=____ b

B ((p+6=_ .

14) (-39) + 76 = "

B 2-(8)= 15.

16) (-476) + 830 = "

17) 81-(-69) = .

19 8+ (5= 18,

74 = 19,

2 (2)-6= 20,
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ﬂh Addizioni e sotrazioni con i numeri negativi Nome: Soluzioni

Risolvi ogni problema. Risposte
1) 935-(-156) = 1.091 " 1.091
) (-42)-89= -131 ,  -131
) 1-(6)=_7 3 7
Y (+(5)=_-8 . 8
5) (-47)+(-85)= -132 s -132
6 20+(-16)= 4 6 4
) (-863)-(-853)= -10 ; -10
8 263+ (-692)= -429 s -429
9 (-510)-126= 636 o  -636
10 (-7)+(-8)=_-15 o -15
1) (61)-(-16)=_ 45 n 45
12 (7)-(=_5 2
) (()+6=_5 13. 5
14) (-39)+76=_ 37 w37
15 2-(-8)=__ 10 5. 10
16) (-476)+830=_ 354 16 354
17) 81-(-69)= 150 7. 150
18) 8+(5)=_3 O
19 7-(4)=_11 w11
20 (-2)-6=_-8 20 -8

1-10 |95]|90|85|80|75[ 70| 65[ 60|55 | 50
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